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DRSS VANACE S 14 15 16 14 15 16 15 / 14 16 /15
# # # % % % % %
EN P (%i%: qug%”j ')\10%)\@%{; f ) 42 40 40 6.5 6.2 6.2 95.2 100.0
| ] il & 12 12 11 1.9 1.9 1.7 100.0 91.7
5 74N 7t 54 52 51 8.4 8.1 7.9 96.3 98.1
o | (14 & 100 A LLF) 11 13 15 1.7 2.0 2.3 118.2 115.4
| (1fEMUT 100 A ) 33 32 29 5.1 5.0 4.5 97.0 90.6
s ﬁjﬁ thl cimmuF 100 A L) 538 539 542 83.5 83.7 84.3 100.2 100.6
wl f® A (100 A L) 8 8 6 1.2 1.2 0.9 100.0 75.0
* N 7t 590 592 592 91.6 91.9 92.1 100.3 100.0
& 7t 644 644 643 100.0 100.0 100.0 100.0 99.8
NP (%i{%: qug%ﬂj 'j\logﬁj\@ﬁ{g f ) 3 1 2 1.5 2.0 1.1 133.3 50.0
1| ] K & — — — — — — - -
7N it 3 4 2 1.5 2.0 1.1 133.3 50.0
v o[ CLEEME - 100 A BLTF) - — _ . = - — —
- jﬂ " (1ML TF 100 A #8) 5 6 5 2.5 3.0 2.6 120.0 83.3
4 (1fEMET 100 A L F) 169 167 159 84.1 84.3 84.1 98.8 95.2
el Mm A (o0 AN B ) 24 21 23 11.9 10.6 12.2 87.5 109.5
- /I 7t 198 194 187 98.5 98.0 98.9 98.0 96.4
& 7t 201 198 189 100.0 100.0 100.0 98.5 95.5
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K% (;;‘qugﬁof A10%A®ﬁ{ﬁ =) 45 44 42 5.3 5.2 5.0 97.8 95.5
o | T Il HH & 12 12 11 1.4 1.4 1.3 100.0 91.7
/I 7t 57 56 53 6.7 6.7 6.4 98.2 94.6
o | (1EM @ 100 A LA F) 11 13 15 1.3 1.5 1.8 118.2 115.4
H (1fEMUT 100 A #) 38 38 34 4.5 4.5 4.1 100.0 89.5
R //Jﬂé thl im s F 100 A L) 707 706 701 83.7 83.8 84.3 99.9 99.3
Al | 8 A (100 A L) 32 29 29 3.8 3.4 3.5 90.6 100.0
/s 7t 788 786 779 93.3 93.3 93.6 99.7 99.1
& it 845 842 832 100.0 100.0 100.0 99.6 98.8
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